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Solve each equation.

1)  4a = 26 2)  3n + 3 = 3−2n − 1

3)  253m + 1 = 1252m + 2 4)  2−3n = 2−3n

5)  83n − 2 = 16−2n 6)  52 − 3x = 125

7)  53x = 5x − 3

8)  4−3b = 
1

64

9)  625−2b = (1

5)−b + 1 10)  625−n − 2 = 253n

11)  16−3k = 64−2k
12)  642 − 3n = 

1

16

13)  27−2x = 93x + 3 14)  2163b = 36−b − 2

15)  4n − 1 = 16 16)  2−n = 4

17)  6253v + 2 = 25 18)  5−n = 25

19)  643k − 2 = 16−3k 20)  36k − 3 = 2163k
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Sketch the graph of each function.
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3) x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

28)  y = 
1

3
 ⋅ (1

2) x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20



©\ P2e0v2K1A LKduitxaa RSfocfOt[wuaSrQeQ bLcLqCE.M K kAjlDlZ pr]iqgrhktXsg TrYeRsSedrBvgeadC.I e FMKaedbex [wCiRtuhP DIGnOffifndiYtxeL ^PTrBemcqaslFchusljussH.

Worksheet by Kuta Software LLC
-4-

29)  y = 2 ⋅ 3x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

30)  y = 
1

4
 ⋅ (1

2) x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

31)  y = 3 ⋅ (1

2) x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

32)  y = 
1

2
 ⋅ (1

2) x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20



©` D2c0D2w1r dK_uatjaz BSBoofKtbw\aSrMeb ILbLcCq.p u ^ArlLlR Pr^img\h_tesr yruegsveirjvCejdz.c k OMmawdQeq TwSictqhW WI`nvfMiVnFiytgeC IParcegc`aslMcUuclCu[s[.

Worksheet by Kuta Software LLC
-5-
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 ⋅ (1

7) x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20



©P N2J0I2^1h eKkuAtSai jS`oOfit]woaZrHem KLdLbCL.O P yAglfl] LrFiDgGhLtisa irxekswedrtvLeedU.o l LMJaIdNee dwhiTtUhf WIyn\fniHnqiFtVeY sParqercxaClScPuKlPuls^.

Worksheet by Kuta Software LLC
-6-
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 ⋅ 4x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

41)  Trevon invests $3,485 in a savings
account with a fixed annual interest rate of
8% compounded continuously.  What will
the account balance be after 6 years?

42)  Kristin invests $5,123 in a savings account
with a fixed annual interest rate of 9%
compounded continuously.  What will the
account balance be after 6 years?

43)  Ming invests $8,615 in a savings account
with a fixed annual interest rate of 2%
compounded continuously.  What will the
account balance be after 11 years?

44)  Shanice invests $8,369 in a retirement
account with a fixed annual interest rate of
5% compounded continuously.  What will
the account balance be after 18 years?
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45)  Mike invests $4,938 in a savings account
with a fixed annual interest rate of 4%
compounded continuously.  What will the
account balance be after 10 years?

46)  Matt invests $1,426 in a retirement
account with a fixed annual interest rate of
6% compounded continuously.  What will
the account balance be after 20 years?

47)  Perry invests $4,314 in a retirement
account with a fixed annual interest rate of
7% compounded continuously.  What will
the account balance be after 14 years?

48)  Ndiba invests $5,851 in a retirement
account with a fixed annual interest rate of
7% compounded continuously.  What will
the account balance be after 17 years?

49)  Julio invests $4,967 in a savings account
with a fixed annual interest rate of 9%
compounded continuously.  What will the
account balance be after 8 years?

50)  Stephanie invests $5,076 in a retirement
account with a fixed annual interest rate of
5% compounded continuously.  What will
the account balance be after 19 years?

51)  Pranav invests $4,590 in a savings account
with a fixed annual interest rate of 8%
compounded continuously.  What will the
account balance be after 8 years?

52)  Jose invests $7,760 in a retirement
account with a fixed annual interest rate of
3% compounded continuously.  What will
the account balance be after 17 years?

53)  Darryl invests $7,701 in a retirement
account with a fixed annual interest rate of
6% compounded continuously.  What will
the account balance be after 15 years?

54)  Jimmy invests $3,011 in a retirement
account with a fixed annual interest rate of
8% compounded continuously.  What will
the account balance be after 14 years?

55)  Emily invests $3,782 in a retirement
account with a fixed annual interest rate of
6% compounded continuously.  What will
the account balance be after 16 years?

56)  Eduardo invests $8,892 in a savings
account with a fixed annual interest rate of
6% compounded continuously.  What will
the account balance be after 9 years?

57)  Ndiba invests $6,390 in a savings account
with a fixed annual interest rate of 7%
compounded continuously.  What will the
account balance be after 10 years?

58)  Emily invests $4,162 in a savings account
with a fixed annual interest rate of 6%
compounded continuously.  What will the
account balance be after 7 years?

59)  Julio invests $1,319 in a retirement
account with a fixed annual interest rate of
7% compounded continuously.  What will
the account balance be after 13 years?

60)  Sumalee invests $6,237 in a savings
account with a fixed annual interest rate of
8% compounded continuously.  What will
the account balance be after 4 years?

Rewrite each equation in exponential form.

61)  log 17 289 = 2 62)  log 11 121 = 2
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63)  log 1

15

1

225
 = 2 64)  log 361 19 = 

1

2

65)  log 8 64 = 2
66)  log 9 3 = 

1

2

67)  log 4 16 = 2
68)  log 13

1

169
 = −2

69)  log 289 17 = 
1

2

70)  log 15 225 = 2

71)  log 18 324 = 2 72)  log 9 81 = 2

73)  log 1

5

1

25
 = 2 74)  log 15

1

225
 = −2

75)  log 12 144 = 2 76)  log 5 125 = 3

77)  log 13 1 = 0
78)  log 1

5

1

625
 = 4

79)  log 125 25 = 
2

3

80)  log 8 8 = 1

Rewrite each equation in logarithmic form.

81)  202 = 400
82)  ( 1

18)2

 = 
1

324

83)  53 = 125
84)  16

1

2 = 4

85)  121 = 12
86)  9

1

2 = 3

87)  182 = 324 88)  23 = 8
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89)  ( 1

12)2

 = 
1

144

90)  152 = 225

91)  289

1

2 = 17
92)  151 = 15

93)  130 = 1 94)  142 = 196

95)  33 = 27 96)  92 = 81

97)  192 = 361 98)  24 = 16

99)  132 = 169 100)  82 = 64
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Solve each equation.

1)  4a = 26

{3}
2)  3n + 3 = 3−2n − 1 {− 4

3}
3)  253m + 1 = 1252m + 2

No solution.
4)  2−3n = 2−3n

{ All real numbers. }

5)  83n − 2 = 16−2n { 6

17} 6)  52 − 3x = 125 {− 1

3}
7)  53x = 5x − 3 {− 3

2} 8)  4−3b = 
1

64

{1}

9)  625−2b = (1

5)−b + 1

{1

9} 10)  625−n − 2 = 253n {− 4

5}

11)  16−3k = 64−2k

{ All real numbers. }
12)  642 − 3n = 

1

16 {8

9}
13)  27−2x = 93x + 3 {− 1

2} 14)  2163b = 36−b − 2 {− 4

11}
15)  4n − 1 = 16

{3}
16)  2−n = 4

{−2}

17)  6253v + 2 = 25 {− 1

2} 18)  5−n = 25

{−2}

19)  643k − 2 = 16−3k {2

5} 20)  36k − 3 = 2163k {− 6

7}
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Sketch the graph of each function.
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36)  y = 
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37)  y = 4 ⋅ 2x

x
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38)  y = 
1

4
 ⋅ 5x
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39)  y = 
1

3
 ⋅ 2x
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40)  y = 
1

4
 ⋅ 4x

x
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41)  Trevon invests $3,485 in a savings
account with a fixed annual interest rate of
8% compounded continuously.  What will
the account balance be after 6 years?
$5,632.02

42)  Kristin invests $5,123 in a savings account
with a fixed annual interest rate of 9%
compounded continuously.  What will the
account balance be after 6 years?
$8,791.10

43)  Ming invests $8,615 in a savings account
with a fixed annual interest rate of 2%
compounded continuously.  What will the
account balance be after 11 years?
$10,734.95

44)  Shanice invests $8,369 in a retirement
account with a fixed annual interest rate of
5% compounded continuously.  What will
the account balance be after 18 years?
$20,584.42
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45)  Mike invests $4,938 in a savings account
with a fixed annual interest rate of 4%
compounded continuously.  What will the
account balance be after 10 years?
$7,366.63

46)  Matt invests $1,426 in a retirement
account with a fixed annual interest rate of
6% compounded continuously.  What will
the account balance be after 20 years?
$4,734.49

47)  Perry invests $4,314 in a retirement
account with a fixed annual interest rate of
7% compounded continuously.  What will
the account balance be after 14 years?
$11,494.46

48)  Ndiba invests $5,851 in a retirement
account with a fixed annual interest rate of
7% compounded continuously.  What will
the account balance be after 17 years?
$19,232.71

49)  Julio invests $4,967 in a savings account
with a fixed annual interest rate of 9%
compounded continuously.  What will the
account balance be after 8 years?
$10,204.37

50)  Stephanie invests $5,076 in a retirement
account with a fixed annual interest rate of
5% compounded continuously.  What will
the account balance be after 19 years?
$13,125.06

51)  Pranav invests $4,590 in a savings account
with a fixed annual interest rate of 8%
compounded continuously.  What will the
account balance be after 8 years?
$8,704.85

52)  Jose invests $7,760 in a retirement
account with a fixed annual interest rate of
3% compounded continuously.  What will
the account balance be after 17 years?
$12,922.66

53)  Darryl invests $7,701 in a retirement
account with a fixed annual interest rate of
6% compounded continuously.  What will
the account balance be after 15 years?
$18,941.40

54)  Jimmy invests $3,011 in a retirement
account with a fixed annual interest rate of
8% compounded continuously.  What will
the account balance be after 14 years?
$9,228.28

55)  Emily invests $3,782 in a retirement
account with a fixed annual interest rate of
6% compounded continuously.  What will
the account balance be after 16 years?
$9,877.44

56)  Eduardo invests $8,892 in a savings
account with a fixed annual interest rate of
6% compounded continuously.  What will
the account balance be after 9 years?
$15,258.73

57)  Ndiba invests $6,390 in a savings account
with a fixed annual interest rate of 7%
compounded continuously.  What will the
account balance be after 10 years?
$12,867.88

58)  Emily invests $4,162 in a savings account
with a fixed annual interest rate of 6%
compounded continuously.  What will the
account balance be after 7 years?
$6,334.40

59)  Julio invests $1,319 in a retirement
account with a fixed annual interest rate of
7% compounded continuously.  What will
the account balance be after 13 years?
$3,276.82

60)  Sumalee invests $6,237 in a savings
account with a fixed annual interest rate of
8% compounded continuously.  What will
the account balance be after 4 years?
$8,589.15

Rewrite each equation in exponential form.

61)  log 17 289 = 2

172 = 289

62)  log 11 121 = 2

112 = 121
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63)  log 1

15

1

225
 = 2 ( 1

15)2

 = 
1

225
64)  log 361 19 = 

1

2
361

1

2 = 19

65)  log 8 64 = 2

82 = 64
66)  log 9 3 = 

1

2
9

1

2 = 3

67)  log 4 16 = 2

42 = 16
68)  log 13

1

169
 = −2 13−2 = 

1

169

69)  log 289 17 = 
1

2
289

1

2 = 17
70)  log 15 225 = 2

152 = 225

71)  log 18 324 = 2

182 = 324

72)  log 9 81 = 2

92 = 81

73)  log 1

5

1

25
 = 2 (1

5)2

 = 
1

25
74)  log 15

1

225
 = −2 15−2 = 

1

225

75)  log 12 144 = 2

122 = 144

76)  log 5 125 = 3

53 = 125

77)  log 13 1 = 0

130 = 1
78)  log 1

5

1

625
 = 4 (1

5)4

 = 
1

625

79)  log 125 25 = 
2

3
125

2

3 = 25
80)  log 8 8 = 1

81 = 8

Rewrite each equation in logarithmic form.

81)  202 = 400

log 20 400 = 2
82)  ( 1

18)2

 = 
1

324
log 1

18

1

324
 = 2

83)  53 = 125

log 5 125 = 3 84)  16

1

2 = 4 log 16 4 = 
1

2

85)  121 = 12

log 12 12 = 1 86)  9
1

2 = 3 log 9 3 = 
1

2

87)  182 = 324

log 18 324 = 2

88)  23 = 8

log 2 8 = 3
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89)  ( 1

12)2

 = 
1

144
log 1

12

1

144
 = 2

90)  152 = 225

log 15 225 = 2

91)  289

1

2 = 17 log 289 17 = 
1

2

92)  151 = 15

log 15 15 = 1

93)  130 = 1

log 13 1 = 0

94)  142 = 196

log 14 196 = 2

95)  33 = 27

log 3 27 = 3

96)  92 = 81

log 9 81 = 2

97)  192 = 361

log 19 361 = 2

98)  24 = 16

log 2 16 = 4

99)  132 = 169

log 13 169 = 2

100)  82 = 64

log 8 64 = 2


